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Solve each equation. Remember to check for extraneous solutions.
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Solve each system by elimination. X
7} 2x—12y=26 % =~ 8) 10x+ y=28 [1Ox —2=22
e (10x+2y=-14) | o Gx+7y=1) L2 +az
—_ —2) -ty = -
—~2X—izy =2zL 2¢ 7 10 x 4—7/:28 {Ox = %_‘?,
Lox +1zy =24 2~y :_.'f_(" —lox My = -2 /o ~ o
s8¢ =S¥ — ~13y = 2b -
5—; e X s% ~3 77 (2,->)
—_— -— I /
("’}FL) 4 _- -2 )/’ o
Write the slope-intercept form of the equation of the line through the given points.
9) through: (0, 3) and (4, 5) 10) through: (1, 1} and (0, 3)
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Answers to Homework 39.2

1) {64} 2) {4} 3) {0}
5) {6} 6) {9} 7) (-1, -2)
9 y=%x+3 10) y=—2x+3
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